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1 Question Description Any person including parents and other family Members who with or without payment provides care, support or assistance to a
person with disability is known as

A Social Worker

B Care Giver

C Special Educator

D Health Worker

Correct Answer B

Marks 1



2 Question Description National Institute for Mental Health and Neurosciences (NIMHANS) battery shall be applied for diagnostic test for ---------------------
----

A Autism Spectrum Disorder

B Mental Illness

C Specific Learning Disability

D Intellectual Disability

Correct Answer C

Marks 1

3 Question Description A unique and innovative kit designed for children with special needs suffering from Cerebral Palsy, Autism, Down syndrome and
other such mental disabilities and special needs.

A MSEID

B Braille

C Digital

D ADL

Correct Answer A

Marks 1



4 Question Description A relatively self-sufficient population, residing in a limited geographic area, bound together by feelings of unity and
interdependency.”.

A Society

B Community

C Social Group

D Group

Correct Answer B

Marks 1

5 Question Description A prosthetic device, a part of which is surgically implanted inside the inner ear

A Cochlear Implant

B Bone plates

C Braces

D Artificial limb

Correct Answer A

Marks 1



6 Question Description The Scheme to assist the needy disabled person in procuring durable, sophisticated and scientifically manufactured, modern,
standard aids and appliances that can promote their physical, social and psychological rehabilitation by reducing the effects of
disabilities and enhance their economic potential

A DDRS

B ADIP

C DSSS

D NIRAMAYA

Correct Answer B

Marks 1

7 Question Description As per census 2011 the disabled population in the State of Goa

A 33015

B 33012

C 33016

D 33017

Correct Answer B

Marks 1



8 Question Description The word ‘family’ has been derived from the word ‘famulus’ which is

A Latin

B Greek

C Roman

D Spanish

Correct Answer C

Marks 1

9 Question Description The leadership where the decision making power is completely left with the subordinates

A Laissez-Faire Style

B Feudal type

C Autocratic Style

D Paternal Type

Correct Answer A

Marks 1



10 Question Description A neuro-developmental condition typically appearing in the first three years of life that significantly affects a person's ability to
communicate, understand relationships and relate to others, and is frequently associated with unusal or stereotypical rituals or
behaviours

A Intellectually Disabled

B Multiple sclerosis

C Autism Spectrum Disorder

D Cerebral Palsy

Correct Answer C

Marks 1

11 Question Description The services that are designed for the weaker sections of society or services for particular groups of people.

A Social Services

B Social Welfare services

C Social Security

D Social Policy

Correct Answer B

Marks 1



12 Question Description The Central Government notified the Guidelines for the purpose of assessing the extent of specified disability in a person included
under the Rights of Persons with Disabilities Act, 2016 (49 of 2016)

A 27th December, 2016

B 4th January 2018

C 7th April 2017

D 15th January 2018

Correct Answer B

Marks 1

13 Question Description Those groups that are governed by rules and regulations that have been officially articulated and written down.

A Informal Groups

B Voluntary Groups

C Formal Groups

D Virtual Groups

Correct Answer C

Marks 1



14 Question Description The guidelines to be used for Providing Barrier free access to Person with Disabilities in built Environment

A Harmonized Guidelines and Space Standards 

B WCAG

C Building Code

D WCAG 2.1

Correct Answer A

Marks 1

15 Question Description An officer to be appointed by every Government establishment as per section 23 of the Rights of Persons with Disabilities Act
2016

A State Commissioner for Person with Disabilities

B Chief Executive officer

C Grievance Redressal Officer

D Liaison officer

Correct Answer C

Marks 1



16 Question Description The organization which intends to avail grant in aid from the Government shall maintain the following basic documents

A Registration certificate, Audit and annual report of the organisation

B Project Proposal, PAN card and FCRA registration

C Land ownership document, Bank Bass Book and Staff register

D Details of Governing body member, MOU, and Vision Statement

Correct Answer A

Marks 1

17 Question Description The Centre that would provide rehabilitative support to persons with disabilities through Counseling of persons with disabilities,
their parents & family members;

A District Early Intervention centre (DEIC)

B District Disability Rehabilitation Centre (DDRC)

C Counseling Centre

D Ummid Day care centre

Correct Answer B

Marks 1



18 Question Description The organisation which runs School and Home for the visually Impaired children is

A Keshav Seva Sadhna ,Ponda

B Sanjay Centre for Special Education,Porvorim

C Lokvishwas Pratisthan, Ponda

D Daddy’s Home, Margao

Correct Answer C

Marks 1

19 Question Description “A person with not less than forty per cent. of a specified disability where specified disability has not been defined in measurable
terms and includes a person with disability where specified disability has been defined in measurable terms, as certified by the
certifying authority;

A Person with illness

B Expert

C Person with impairment

D Person with benchmark disability”

Correct Answer D

Marks 1



20 Question Description The aids and appliances provided to the person with severely disabled and for Quadriplegic, Muscular Dystrophy,stroke ,cerebral
Palsy,Hemipeligia,and any other person with similar condition where either three /four limbs or one half of the body are severely
impaired

A Walker

B Motorised Tricycle

C Accessible Mobile Phone

D None of the Above

Correct Answer B

Marks 1

21 Question Description The expert member who will be in the Medical authority constituted for issuance of disability certificate under the chairmanship of
Medical Superintendent For chronic neurological conditions without mental illness

A Psychiatrist

B Paediatrics

C Neurologist

D Trained Psychologist

Correct Answer C

Marks 1



22 Question Description Indian Disability Evaluation and Assessment Scale is the official tool to certify disability due to

A Mental Illness

B Parkinson

C Intellectual Disability

D Specific Learning Disabilities

Correct Answer A

Marks 1

23 Question Description World Autism Awareness Day is an internationally recognized day on

A 1st october.

B 14th April

C 2nd April

D 10th october

Correct Answer C

Marks 1



24 Question Description The State Advisory Board on Disability shall consists of Members of the State Legislature

A 3

B 5

C 4

D 12

Correct Answer A

Marks 1

25 Question Description The number of Awards provided to the Best Employees category under the Scheme of State Awards for the welfare of Persons with
Disabilities

A 6

B 3

C 1

D 4

Correct Answer B

Marks 1



26 Question Description All Government institutions of higher education and other higher education
Institutions receiving aid from the Government shall reserve not less than----------------- seats for persons with benchmark
disabilities.

A five per cent

B four Per cent

C Three per cent

D Ten per cent

Correct Answer A

Marks 1

27 Question Description The financial assistance provided to Person with Disabilities having 90 per cent and above Disability under Dayanand Social
Security Scheme

A Rs. 2000

B Rs. 3500

C Rs. 2500

D None of the above

Correct Answer B

Marks 1



28 Question Description A nation-wide Campaign for achieving universal accessibility for Persons with Disabilities (PwDs)

A Unique Disability ID

B Sugamya Bharat Abhiyan

C National Programme for Rehabilitation of Persons with Disabilities

D FIT India

Correct Answer B

Marks 1

29 Question Description The age of the Child with congenital deafness for Cochlear Implant surgery under ADIP scheme

A upto 12 years

B upto 10 years

C upto 5 years

D upto 15 years

Correct Answer C

Marks 1



30 Question Description The functions followed by the Formal organizations in its working.

A POSDCoRBEF

B POSCoDREFB

C POSDBCoREF

D POSDREFCoB

Correct Answer A

Marks 1



31 Comprehension Read the following passage and answer the questions given below:

The fundamental question must now be raised:’ Why do people engage in conversation for conversation’s sake?’ The
reason cannot be that they look upon the affair as a very bright entertainment, for most conversers are only too
obviously happy when time arrives for breaking up the party. It cannot be because they feel an overmastering desire for
information concerning friends, because, even if such desire existed, it could be stated in ten seconds. Nor can it be
because they feel an overmastering desire to impart information concerning themselves, for such a desire, which
usually exists in some degree, could be satisfied in ten minutes, and they will stay on long after it is satisfied and even
stated. Nor can it be in order to kill time, because they could get far more fun out of the worst book ever written than
they could get out of the average pow-wow.

Question Description Find a word or a phrase from the passage that means ‘a conference or a meeting’

A the affair

B conversation for conversation’s sake

C he party

D the pow-wow

Correct Answer D

Marks 1



32 Comprehension Read the following passage and answer the questions given below:

The fundamental question must now be raised:’ Why do people engage in conversation for conversation’s sake?’ The
reason cannot be that they look upon the affair as a very bright entertainment, for most conversers are only too
obviously happy when time arrives for breaking up the party. It cannot be because they feel an overmastering desire for
information concerning friends, because, even if such desire existed, it could be stated in ten seconds. Nor can it be
because they feel an overmastering desire to impart information concerning themselves, for such a desire, which
usually exists in some degree, could be satisfied in ten minutes, and they will stay on long after it is satisfied and even
stated. Nor can it be in order to kill time, because they could get far more fun out of the worst book ever written than
they could get out of the average pow-wow.

Question Description Identify the one likely reason for ‘conversation for conversation’s sake’ that is not ruled out in the passage

A desire to share information

B desire to spend free time

C desire to share mutual interests

D desire for entertainment

Correct Answer C

Marks 1



33 Comprehension Read the following passage and answer the questions given below:

The fundamental question must now be raised:’ Why do people engage in conversation for conversation’s sake?’ The
reason cannot be that they look upon the affair as a very bright entertainment, for most conversers are only too
obviously happy when time arrives for breaking up the party. It cannot be because they feel an overmastering desire for
information concerning friends, because, even if such desire existed, it could be stated in ten seconds. Nor can it be
because they feel an overmastering desire to impart information concerning themselves, for such a desire, which
usually exists in some degree, could be satisfied in ten minutes, and they will stay on long after it is satisfied and even
stated. Nor can it be in order to kill time, because they could get far more fun out of the worst book ever written than
they could get out of the average pow-wow.

Question Description From the options given below, identify the number of reasons that the passage provides for ‘conversation for
conversation’s sake’

A three

B four

C none

D several

Correct Answer B

Marks 1



34 Comprehension Read the following passage and answer the questions given below:

The fundamental question must now be raised:’ Why do people engage in conversation for conversation’s sake?’ The
reason cannot be that they look upon the affair as a very bright entertainment, for most conversers are only too
obviously happy when time arrives for breaking up the party. It cannot be because they feel an overmastering desire for
information concerning friends, because, even if such desire existed, it could be stated in ten seconds. Nor can it be
because they feel an overmastering desire to impart information concerning themselves, for such a desire, which
usually exists in some degree, could be satisfied in ten minutes, and they will stay on long after it is satisfied and even
stated. Nor can it be in order to kill time, because they could get far more fun out of the worst book ever written than
they could get out of the average pow-wow.

Question Description An alternative prospect to ‘conversation for conversation’s sake’ suggested in the lighter vein in the passage is

A a bright entertainment

B sharing information concerning themselves

C reading the worst book ever written

D sharing information concerning friends

Correct Answer C

Marks 1



35 Comprehension Read the following passage and answer the questions given below:

The fundamental question must now be raised:’ Why do people engage in conversation for conversation’s sake?’ The
reason cannot be that they look upon the affair as a very bright entertainment, for most conversers are only too
obviously happy when time arrives for breaking up the party. It cannot be because they feel an overmastering desire for
information concerning friends, because, even if such desire existed, it could be stated in ten seconds. Nor can it be
because they feel an overmastering desire to impart information concerning themselves, for such a desire, which
usually exists in some degree, could be satisfied in ten minutes, and they will stay on long after it is satisfied and even
stated. Nor can it be in order to kill time, because they could get far more fun out of the worst book ever written than
they could get out of the average pow-wow.

Question Description From the options provided below, identify the statement from the passage that is not illustrative of sarcasm

A They look upon the affair as a very bright entertainment.

B Nor can it be in order to kill time.

C It cannot be because they feel an overmastering desire for information concerning friends.

D They could get far more fun out of the worst book ever written

Correct Answer B

Marks 1



36 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that
had perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes
of such words if you go through some recent works on Ramakrishna published in the West. What is most important in
all works for the dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without
any reservation, that this ideal does not touch any religion as it exists but only urges a universal approach to all
religions. By universal religion, Vivekananda meant this mingling of faiths and he thought it was Vedanta, particularly
Advaita Vedanta, which could bring about this mingling of spiritual tunes in a grand harmony of faiths.

Question Description The statement, ‘his religious activity and experience were comprehensive to a degree that had perhaps never before
been attained by any other religious genius in
India or elsewhere’, implies that as a religious genius, his religious activity and experience were

A probably the first, and so far, the most comprehensive in the world

B likely to be the most comprehensive in India and elsewhere

C those which few others had attained in the past in India or elsewhere

D perhaps the best and comprehensive attainments in the world

Correct Answer A

Marks 1



37 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that
had perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes
of such words if you go through some recent works on Ramakrishna published in the West. What is most important in
all works for the dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without
any reservation, that this ideal does not touch any religion as it exists but only urges a universal approach to all
religions. By universal religion, Vivekananda meant this mingling of faiths and he thought it was Vedanta, particularly
Advaita Vedanta, which could bring about this mingling of spiritual tunes in a grand harmony of faiths.

Question Description Identify from the following options, the most crucial thing for Vedanta philosophy, mentioned in the passage:

A insistence on its dissemination without reservation

B affirmation of its universal approach to religion

C emphasis on its bearing on universal religion

D affirmation of ideal religion as its exists

Correct Answer B

Marks 1



38 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that
had perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes
of such words if you go through some recent works on Ramakrishna published in the West. What is most important in
all works for the dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without
any reservation, that this ideal does not touch any religion as it exists but only urges a universal approach to all
religions. By universal religion, Vivekananda meant this mingling of faiths and he thought it was Vedanta, particularly
Advaita Vedanta, which could bring about this mingling of spiritual tunes in a grand harmony of faiths.

Question Description Identify from the following options, the antonym of the word ‘dissemination’ as it is used in the passage:

A dissipation

B proclamation

C extirpation

D propagation

Correct Answer C

Marks 1



39 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that
had perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes
of such words if you go through some recent works on Ramakrishna published in the West. What is most important in
all works for the dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without
any reservation, that this ideal does not touch any religion as it exists but only urges a universal approach to all
religions. By universal religion, Vivekananda meant this mingling of faiths and he thought it was Vedanta, particularly
Advaita Vedanta, which could bring about this mingling of spiritual tunes in a grand harmony of faiths.

Question Description Identify the word that is farthest in meaning to the word ‘echo’ from the options given below:

A reflection

B reproduction

C reverberation

D facsimile

Correct Answer D

Marks 1



40 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that
had perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes
of such words if you go through some recent works on Ramakrishna published in the West. What is most important in
all works for the dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without
any reservation, that this ideal does not touch any religion as it exists but only urges a universal approach to all
religions. By universal religion, Vivekananda meant this mingling of faiths and he thought it was Vedanta, particularly
Advaita Vedanta, which could bring about this mingling of spiritual tunes in a grand harmony of faiths.

Question Description From the options provided below, select the one that comes closest in meaning to the phrase ‘grand harmony’ in the sense it is used
in the passage:

A magnificent consonance of faiths

B great concord of all religions

C impressive accord of religions

D awe-inspiring unison of all faiths

Correct Answer A

Marks 1



41 Question Description Which country has recently been renamed as 'The Kingdom of eswatini'?

A zambia

B soloman island

C marshall island

D Swaziland

Correct Answer D

Marks 1

42 Question Description Where is "Sher Shah's Tomb" located?

A Delhi

B Ajmer

C Lahore

D Sasaram

Correct Answer D

Marks 1



43 Question Description Where is "Paunar Ashram" established by VinobaBhave located?

A Maharashtra

B Rajasthan

C Bihar

D Gujarat

Correct Answer A

Marks 1

44 Question Description Who is the originator of the tree plantation festival known as 'Van Mahotsav' in India?

A Jawaharlal Nehru

B VinobaBhave

C K.R. M. Munshi

D Mahatma Gandhi

Correct Answer C

Marks 1



45 Question Description In 2021, the theme of Global Recycling Day is "____________".

A Air pollution

B Time for nature

C Plastic pollution

D Recycling Heroes

Correct Answer D

Marks 1

46 Question Description Which of the following is a non metal that remains liquid at room temperature?

A Phosphorous

B Bromine

C Chlorine

D Helium

Correct Answer B

Marks 1



47 Question Description Name the woman officer who was included in BSF as the first woman Combat Officer of India?

A Devika Pathak

B Tejaswini Ojha

C Priyanka Gaikwad

D Tanushree Pareek

Correct Answer D

Marks 1

48 Question Description Which bank has fined Rs 2 crore for paying commission to employees?

A Punjab National Bank

B State Bank of India

C Union Bank of India

D Central Bank of India

Correct Answer B

Marks 1



49 Question Description Indo-Pak Baglihar Project is located on which one of the following rivers?

A Jhelum

B Sutlej

C Diameter

D Chenab

Correct Answer D

Marks 1

50 Question Description How much is one decalitre?

A 10 kilolitre

B 10 litre

C 100 litre

D 10 centilitre

Correct Answer B

Marks 1



51 Question Description In order of quality in an examination having six subjects one has to get at least 50% and above marks separately in any four subjects
and minimum 35% and above in each of the six subjects. If the total of 25% candidates have qualified in the examination, then
which of the following is definitely true?

A 25% of the students have secured 50% and above in all the six subjects.

B 75% of the students could not get at least 35% marks in all the six subjects taken together.

C 50% of the students got 50% and above in four subjects but only half of them could get 35% and above in all the subjects.

D Only 25% of the students could get at least 35% and above marks in each of the subjects.

Correct Answer D

Marks 1

52 Question Description The state government’s agency ‘HOUSEWELL’ has constructed 500 flats for middle class but in spite of shortage of house, it has
not even received hundred applications.

Each of the following if true could explain this except :

A The quality of construction of ‘HOUSEWELL’ is reported to be very poor

B The location of the flats is not convenient either by bus or from railway station

C A private builders scheme which has come up on the adjacent plot is overbooked in spite of higher cost and 100% advance payment

D The cost and conditions of payment are quite demanding and are slightly higher than usual government housing schemes

Correct Answer C

Marks 1



53 Question Description Find a pair that has similar relationship to run: jog

A Frog: catch

B Chicken: eat

C Rain: drizzle

D Swim: dive

Correct Answer C

Marks 1

54 Question Description Abraham, Border, Charlie, Dennis and Elmer, and their respective wives recently dined together and were seated at a circular table.
The seats were so arranged that men and women alternated and each woman was three places away from her husband. Mrs Charlie
sat to the left of Mr Abraham. Mrs Elmer sat two places to the right of Mrs Border. Who sat to the right of Mr Abraham?

A Mrs Dennis

B Mrs Elmer

C Mrs Border

D Mrs Border or Mrs Dennis

Correct Answer D

Marks 1



55 Question Description Below given question has a main statement followed by four statements labelled A, B, C and D. Choose the ordered pair of
statements, where the first statement implies the second and the two statements are logically consistent with the main statement.

You cannot catch the bus unless it is morning.
(A) This is morning.
(B) You can catch the bus.
(C) This is not morning.
(D) You cannot catch the bus.

A BD

B AC

C CB

D CD

Correct Answer D

Marks 1



56 Question Description Olive oil is more expensive than the coconut oil but is cheaper than the groundnut oil
Coconut oil is more expensive than the sunflower oil but is cheaper than the soya oil
Among the three oils, sunflower oil is the cheapest
If the first two statements are true then the third statement is

A True

B False

C Uncertain

D

Correct Answer A

Marks 1



57 Question Description Sita starts from point A and travels towards north for 2 km, then she takes a turn of 60° to her right and travels for another 2 km,
then she takes a turn of 120° to her right and travels for another 2 km. Finally, she takes a turn of 135° to her left.

What is the direction she is finally facing?

A North

B South -west

C North-east

D East

Correct Answer C

Marks 1



58 Question Description In the given figure, if the centres of all the circles are joined by horizontal and vertical lines, then find the number of squares that
can be formed.

A 1

B 7

C 8

D 6

Correct Answer C

Marks 1



59 Question Description A study reveals that families where parents cannot give sufficient time for their children report disturbed behaviour of children and
poor performance of the child at school.

Which of the following is true, would weaken the statement?

A Studies regarding behaviour of children of single parents have reported similar findings.

B A good and healthy child-parent relationship helps the child in adjustment at home and school.

C A high correlation has been found between good adjustment of the child with his peers/friends and high good performance in the
school.

D Schools have now started counselling parents to spend happy and meaningful time with their children.

Correct Answer C

Marks 1



60 Question Description Five men A, B, C, D and E read a newspaper. The one who reads first gives it to C, the one who reads last had taken it from A. E
was not the first or the last to read. There were two readers between B and A. Find the person who read the newspaper last

A A

B B

C C

D D

Correct Answer D

Marks 1



61 Question Description If the words in the bottom row are related in the same way as the words in the top row, find the word that completes bottom row of
words
Mango Fruit Supermarket
Novel book ​​​_____________

A bookstore

B read

C shopping

D pages

Correct Answer A

Marks 1



62 Question Description Here are some words translated from artificial language
Zakumoty means advisement
Maluzaku means misadvise
Malubrey means misconduct

Which word could mean “argument”

A motybrey

B kolomoty

C malumoty

D breymoty

Correct Answer B

Marks 1



63 Question Description If it is possible to make a meaningful word from the second, fourth, fifth, eleventh and thirteenth letters of the word
ESTABLISHMENT using each letter only once, write second letter of that word as your answer, if more than one such word can be
formed, write ‘M’ as your answer and if no such word can be formed, write ‘X’ as your answer.

A B

B A

C E

D M

Correct Answer D

Marks 1



64 Question Description In making decisions about important questions, it is desirable to be able to distinguish between ‘strong’ arguments and ‘weak’
arguments ‘Weak’ arguments are those which are of minor importance and also may not be directly related to the question or may
be related to a trivial aspect of the question
Each question below is followed by three arguments numbered (A) (B) and (C) You have to decide which of the arguments is a
‘strong’ argument and which is a ‘weak’ argument.
Statement:

Should there be a cap on drawing groundwater for irrigation purposes in India?
Arguments:

A. No irrigation is of prime importance for food production in India and it is heavily dependent on groundwater in many parts of
the country.

B. Yes, water tables have gone down to alarmingly low levels in some parts of the country where irrigation is primarily
dependent on ground water, which may lead to serious environmental consequences.

C. Yes, India just cannot afford to draw groundwater any further as the international agencies have cautioned India against it.

A Only (A) and (B) are strong

B Only (B) and (c) are strong

C Only (A) and (C) are strong

D All (A), (B) and (C) are strong

Correct Answer A

Marks 1



65 Question Description If KITE is coded as JHSD, how is FLY coded?

A EKX

B EKZ

C IKX

D IKZ

Correct Answer A

Marks 1



66 Question Description A, B, C, D, ..., X, Y, Z are the players who participated in a tournament. Everyone played with every other player exactly once. A
win scores 2 points, a draw scores 1 point and a loss scores 0 point.

None of the matches ended in a draw. No two players scored the same score. At the end of the tournament, by ranking list is
published which is in accordance with the alphabetical order. Then

A M wins over N

B N wins over M

C M does not play with N

D None of these

Correct Answer A

Marks 1

67



Question Description In each of the question below are given four statements followed by four conclusions numbered I, II III and IV You have to take the
given statements to be true even if they seem to be at variance from commonly known facts Read all the conclusions and then
decide which of the given conclusions logically follows from the given statement disregarding commonly known facts.
Statements:

Some trains are cars.
All cars are branches
All branches are nets
Some nets are dresses

Conclusions:
I. Some dresses are cars.

II. Some nets are trains.

III. Some branches are trains.

IV. Some dresses are trains.

A Only I and III follow

B Only II and III follow

C Only I and IV follow

D Only II III and IV follow

Correct Answer B

Marks 1



68 Question Description Seby has 6 vehicles, of which 3 vehicles are blue in color. One of the vehicle is SUV
Which of the following statement is true

A Seby has blue SUV

B Seby has 3 cars

C Seby’s favorite colour is blue

D None of the above

Correct Answer D

Marks 1

69 Question Description How many pairs of letters are there in the word ATMOSPHERE which have as many letters between them as in the English
alphabet?

A Two

B Three

C Four

D Five

Correct Answer B

Marks 1



70 Question Description A is B’s daughter. B is C’s mother. D is C’s brother. How is D related to A?

A Father

B Brother

C Grandfather

D Son

Correct Answer B

Marks 1

71 Question Description In certain code ‘PENCIL’ is written as ‘RCTAMJ’ ,then what is the code for ‘BROKEN’ in that Language?

A SPFIIL

B SVFLIN

C FVSMGL

D FPSMIL

Correct Answer A

Marks 1



72 Question Description Direction: In the following question, a statement is given followed by two conclusions. Choose the correct option.

Statement: Any student who follow un-ethical practices in examination disqualifies himself from examinations
Conclusion:

I. Those who involve in un-ethical practices in examination shall be debarred

II. Examination system should be improved.

A Only Conclusion (I) follows

B Both Conclusion (I) and (II) follow

C Neither Conclusion (I) or (II) follows

D Only Conclusion (II) follows

Correct Answer A

Marks 1



73 Question Description Which word does not belong with the other?

A Correct

B True

C False

D Right

Correct Answer C

Marks 1

74 Question Description What should come in the place of question mark (?) in the following letter sequence?
AZB, CYD, EXF, ?, IVJ, KUL

A FYH

B GWH

C HWH

D GUF

Correct Answer B

Marks 1



75 Question Description For the series 2, 12, 7, 22, 12, 32, what pair of numbers should come next?

A 17, 40

B 20, 42

C 18, 40

D 17, 42

Correct Answer D

Marks 1


